7H24

) ATZUIM YIRHTIVA (C 2I3K)

<REFh=FAZ B>

ER mr

&

S

2-21i1

=+

-

5(6
1-241 2-141
F B
et et
pid =]
BE =5

-FHE (KBEY37-7U-)

<FEI-I>
Jows 1 1 2 3 4 [:7iva
Lo ALl 6-40|6-40|6-20| 1
(F1-74/(7-2X)
2. fEl s
4 — 6 x 4-6X|6-10 3
(everyTC)
S L I 6-10| 2
(ThreeF - 5Y)
4. 7aE - #EeE
2-6x|1-6%x|1-6x% 4
(NTC)
Jovs 2 5 6 7 8 gz
5. )| AN
6-00|1-6X|6-20 2
(everyTC)
6. E&HEL
0—-6x 1-6X|6-20 3
(NTC)
7. @+ FH
L 6-10|6-10 6-20 1
(RBEHST-JV—)
8. 5|t FH
2-6X|2-6%X|2-6X% 4
ov-)

HER H

FF Pl (F1—F74/VD—X)

b EEASPEE



